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UNIVERSITY OF NORTH BENGAL
B.A. Minor 2nd Semester Examination, 2024

UPHIMIN10001-PHILOSOPHY

WESTERN LOGIC

Time Allotted: 2 Hours 30 Minutes Full Marks: 60

The figures in the margin indicate full marks.

SECTION-I/ Rei-3 / Gus-®
L, Answer any five of the following: 2x5=10
R - 5o ers Tex nies
P gy STt IR TR :
(a) Transform the following statements into ideal form of Propositions: 1+1

(i) Only childrens ate happy.
(ii) Students are intelligent.
fsfie IR 6 Feieiie F4:
(i) @eTg Mreaiz 73
(i) QA = @A
RSTT ATRIEPATS AP HIHTIRET THENY :
(i) BRBRYam Gl B+
(i) Rreneffes gfem™ 571
(b) How can we determine the figure of an argument? : 2
oAl el ait e rEe R 3f 2
et o Y T apet Preor T et 2
(c) What do youmean by Existential Import? 2
SRR Bl ZET08 F @R 9
SifETTRepT SR e wTel & 3D ?
(d) What is the role of Truth-value operator in Truth-Function? 2
HeJCorr 50 7)1 welm gl 2 '
T VHRIAT - 3TRER b & ?

(e) If A, B, C are true and X, Y, Z are false, then test the truth-value of the following 2
propositional form:

WA, B, C 79 @R X, Y, Z et orzee s ssaisiaioa wopEn fefa was
e A, Beaﬁrcw*zrw[ I X, Y a1 Z o e o, e IRiarT b e

SICRIGELSE

[(AB)>C]l=[(XVvY)>Z]
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(f) Why do we draw three interconnecting circles in Venn-diagram? 2

(SO SR (B vl FeifIe 36 wEe TR (< 2
) T gt F-XETfeErT dimaer sraRasRYd Sdhee® Dol ?

(g) When is an argument invalid? 2
(0 I I SIY T 9
T Pidet FIT O ?

(b) What do you mean by Inductive Leap? 2
QCAIGETT A #TS 5 Qi 9
3TRIE BT U1l b BT ?

, SECTION-I1 / Rete-4 / @vs-a
2, Answer any six of the following: 5x6 =130

freioiRe Q- zafs evem Teawies
PromA ORI |

(a) Distinguish between Deductive and Inductive argument. . 5
SRR R SR &7 T N7 91 |

(by What do you mean by distribution of terms? Mention which terms are distributed 2+1 ,.%+1 %

* of the following propositions:

(i) None but Scientists are Mathematician.
(ii) Few flowers are fragrant.
AR P70} TS U QRN 2 TsfRe WaefFEm @i =l ie) ©f e
(i) e Rerma sfew)
(i) Rggazpd
“UE-FROr WeTTeT B YFEED ? SeTehT e 7 Uees faRa © 2
(i) e o JenFigem i 5
(if) &R Feress GuF-ord 7

(c) What do you mean by contrary and sub-contrary opposition of proposition? 5
Explain with examples.
Tzl eI R ¢ wfia-Refie Ruaifket 1 791
I a1 SU-RIeRie Tl fakty et & 8 2 SeTevuRfea e e |

(d) Explain Fallacy of Illicit Major and Minor terms. 5
SR TG GRS JIG A
e U ST 3y W RIThT AT TR |

(e) Test the validity of the following arguments with the help of syllogistic rules 2 .2L +2%

(i) AOO — Third Figure
(i) Ram is mortal, because he is a man.

e e e s el ferefem tave! fvw we
(i) AOO — PO KEA
(ii) AN =F SReHeT, PR 1 27 I
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foIRtyer FPrereenT TERIET ST ST Tdhawa derT e RN |
(i) AOO — AT SATPHhT
(ii) I TRorefier & fbeae S WieRT B

(f) Use Truth-Table method to determine the following statement forms as 2%4.21
. . 2
Tautology, self contradictory or contingent:

oA ~iaod MACY AT Torey fefy w4
PR FRIfeeT THERY
@® po>(op
i) pve>p

(g) Critically discuss the Problem of Induction. . 5
SCNE ST A R i 91
TSB! FHRATH! STTATAAHSD T BT T |

(h) What is enthymeme? What are the different orders of enthymeme? 2+3
TP I I 0 ¢ FRPre Wit [ion eaf A
WW%??R@WWWWWi

SECTION-II / Reti-o / @ug-
3. Answer any ftwo of the following: 0 10%x2=20
e - 7fF evaw Sea wies _
P §¥ P! IR g :
(a) What is Proposition? Briefly explain the classification of proposition on the basis 2+8

of quality, quantity and both quality and quantity.
o 2 e, AT GR @ 3 2SR 1T @R SicEsa T
YT AT TR |
(b) Use Truth-Table to ‘determine the validity and invalidity of the following 5+5
arguments; -
O *iod MR FEFRe el taure u wtage! fef 33
O p=(pva
~(vq/. .. ~p
(i) po(q@>1)
~q/..pDr
(c) Test the validity of the following arguments through Venn-diagram: 5+5
(i) AIl— First Figure
(ii) All Philosophers are wise. Some illiterates are not wise. So, some illiterates
are Philosophers.

ceHfbeaa MR RS g wir (xael (v w1

(1) All — oo HRER

(ii) e #ET 2 @R R @I @ RS T RN TR @I @ SRS 7
Luiced
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AT XETRAPT FETICTERT TeTehT ebgmen dererT arera rerereir ko T |
(i) All-— STerT 3Irpfer '
(i) T TPEES T B | B SffdRTES ST IR B, Tkier e aififdaes
greiess o | -
(d) What is analogical argument? Explain with examples.

Toi R Y ¢ BriggeTR S T
TGRS T o BY 2 TRV et ST T |

[V, SU——
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